



















































































If the mass of the parker pen is 0.012kg determine its density (2mks)
2. The figure 1 below shows some forces acting on object.
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On the figure below draw the resultant force acting on the object

3. Figure two below shows the apparatus used to examine the préssure of a gas

60cm

7F‘

g

Mercury

.JLSOcm

Taking density of mercury to be 13,600kg/m? and standard atmospheric pressure

100,000N/m?. Calculate gas pressure (3mks)
4, Explain why it is possible to.compress gases but not solids or liquids (3mks)
5. (a) One the axis provided;’sketch a graph of volume against temperature of water from
0° to 20°C. (2mks)
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(b) During anomalous expansion of water, heat transfer is limited to conduction

and radiation only explain (1mk)

Figure 3 shows two aluminium container A and B placed on a wooden table containers

A and B have equal volume of hot water initially at the same temperature

For More Papers and Markir

A

7

G777 7 A





















































































































(i) Displace the marble by a horizontal distance X = 20cm and measure the
corresponding vertical.

Displacement h = cm (1mk)
(ii) Repeat the experiment to find h for each of the following values in the

table.

(Complete the table). (2mks)

¥ {cm) h(cm) ¥*(cm?) “/n(cm)

20 200

25 625

30 900

35 1225

40 1600

45 2025

2
(iii) Plot the graph of % (y-axis against h. Draw the best through the points.(5mks)

(iv) Determine the slope of the graph. (2mks)
2

(v) From the graph, find the value of % when h =0. (1mk)

(b) Raise the clamp slightly without changing the length L so‘that the marble is free to
swing. Determine the period, T, for one complete oscillation by timing ten oscillations.

Time for 10 oscillation = (1mk)

Period T = (1mk)
(c) Calculate the value of P from he following gquation.

T =2r (%j where g =9.8ms™2 (2mks)
(b) You are provided with the following apparatus:

e Candle

e lens

e Lens holder

e Metrerule

e Cross wire

e Screen

e Vernier calipers

Proceed-as follows:

(i) Arrange the apparatus as shown in the figure 2 below.
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Given that the time base control is 10ms/cm and the Y-gain is at 120V/cm determine

(i)
(if)
(iii)

(b)

(i)
(if)
(iii)

The frequency of the a.c. sighal (3 Marks)
The peak voltage of the input signal (3 Marks)
State what would be observed on the screen if the time base is switched off
(1 Mark)

Figure 10 shows a circuit whose output voltage with time as displayed on the
CRO screen. (2 Marks)
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Sketch a graph to show the variation of output voltage with time as displayed on
the CRO screen. ( 2 Marks)
Show on the diagram (Figure 10) how a <£apacitor should be connected to
smooth the output voltage (1 Mark)

Sketch a curve of smoothed output voltage against time. (2 Marks)

16. (a) In a photoelectric experiment, the following data was obtained using a clean
metal surface.
Stopping potential 0.2 0.4 0.6 0.98
Frequency x 10'*HZ | 5.0 5.5 6.0 7.0
(i) Use the data to plot a graph of stopping potential against frequency (5 Marks)
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Extension M (cm)
(5mks)
Time for 20 oscillation ( sec) (vi) Plota
Periodic time T (sec) graph (.)f
extension, e {m)
T2 (sec)? (y —axis)
against T? (s)?
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(vii) Calculate the gradient of the grap@‘\ (2mks)
2
(viii)Given that e = +C, det grmlne the value of R ( 3mks)
Ar*

NG

‘4
PartB R
(b) You are provided \%@h a lens P a lens holder a white screen and a 30cm rule
Procedure:

(i) Setthe app‘@axtus as shown in figure 4 below. Focus a sharp image of a distant object
on the screen. The object should be at least 10cm away.
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